
NS-M3600BLACK

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

Floor stand

Vloersteun

Bodenständer

Support au sol

Supporto da pavimento

Soporte de suelo

Suporte de chão

Gulvstander

NO 

SE 

FI 

PL 

CS 

SK 

RO 

Gulv stativ

Golvstativ

Lattiateline

Stojak podłogowy

Podlahový stojan

Podlahový stojan

Stativ pentru podea

min200~max600mm

684mm

16
85

m
m

15
25

m
m

m
in

20
0~

m
ax

40
0m

m

43
5m

m

673mm 55
4m

m

75
7m

m

434mm 280mm

WWW.NEOMOUNTS.COM

INSTRUCTION MANUAL



PARTS

NS-M3600BLACK
200x200 - 

600x400 mm
80 kg

B

H

STEP 1
Attach the shelf holders to the supports
Bevestig de plateauhouders aan de staanders
Befestigen Sie die Regalhalter an den Stützen
Fixer les porte-étagères aux supports
Fissare i reggimensola ai supporti
Fije los soportes de las baldas a los soportes
Fixar os suportes das prateleiras nos suportes
Przymocuj uchwyty półek do wsporników

EN
NL
DE
FR
IT
ES
PT
PL

A. (x1) B. (x1)

G. (x1) H. (x1) I. (x4) J. (x3)

S. (x4)

M-F. (x4) M-G. (x8) M-H. (x8)

C. (x1) D. (x1) E. (x2) F. (x1)

K. M6x10
(x6)

L. M8x15
(x1)

M. M8x35
(x6)

N. D8
(x4)

O. M6x16
(x2)

P. 4mm
(x1)

Q. 5mm
(x1)

R. M10
(x1)

M-A. M5x14
(x4)

M-B. M6x14
(x4)

M-C. M6x30
(x4)

M-D. M8x30
(x4)

M-E. M8x50
(x4)

AA

Q
M

G

M

H

B

135-153 cm



 
 
 
 
 
 
 

STEP 2

C

K

I

Attach part C to the supports
Bevestig onderdeel C aan de staanders
Befestigen Sie Teil C an den Stützen
Fixer la partie C aux supports
Fissare la parte C ai supporti
Fijar la parte C a los soportes
Fixar a parte C aos suportes
Przymocuj część C do wsporników

EN
NL
DE
FR
IT
ES
PT
PL

Install the casters
Installeer de wielen
Montieren Sie die Rollen
Installez les roulettes
Installare le ruote
Instalar las ruedas
Instale as rodas
Zainstaluj kółka

EN
NL
DE
FR
IT
ES
PT
PL

C

I

K
P

STEP 3 A



S

STEP 4

D

N

Q

Install the feet
Installeer de stelvoetjes
Montieren Sie die Füße
Installez les pieds
Installa i piedi
Instalar los pies
Instale os pés
Zainstaluj stopy

EN
NL
DE
FR
IT
ES
PT
PL

Install the VESA plate
Installeer de VESA plaat
Montieren Sie die VESA-Platte
Installation de la plaque VESA
Installare la piasta VESA
Instalar la placa VESA
Instalar a placa VESA
Instalowanie płytki VESA

EN
NL
DE
FR
IT
ES
PT
PL

S

N
Q

M

STEP 3 B



F

E

O

P

R

STEP 5

STEP 6

M-F

M-B

M-F

Attach the shelf to the floor stand
Bevestig het plateau aan de vloersteun
Befestigen Sie das Regal am Bodenständer
Fixer l'étagère au support de sol
Fissare il ripiano al supporto a pavimento
Fijar la estantería al soporte de suelo
Fixar a prateleira ao suporte de chão
Zamocować półkę na stojaku podłogowym

EN
NL
DE
FR
IT
ES
PT
PL

Install the adapter brackets
Bevestig de adapter steunen
Montage die Halterungsschienen
Installation des adaptateurs sur l'écran
Montare il supporto del adattatore
Instalación de brazos adaptadores
Instalação de braços adaptadores
Zainstaluj ramiona uchwytu

EN
NL
DE
FR
IT
ES
PT
PL

R

P

E

O
F

M-A

M-F M-F

M-B

* Not Included



OPTION

STEP 7

M-C M-C

M-F

M-H

M-C

M-F

M-G

M-F

M-G

M-E M-E M-E

M-F M-F

M-G
M-H

M-F

M-H

Use spacers if necessary
Gebruik afstandhouders indien nodig
Montage der Distanzscheiben wenn nötig
Utilisez des entretoises si nécessaire
Utilizzare distanziatori, se necessario
Utilice separadores si es necesario
Utilize separadores se necessário
Użyj dystansów jeśli jest taka potrzeba

EN
NL
DE
FR
IT
ES
PT
PL

Attach the screen to the bracket and secure it
Bevestig het scherm op de beugel en zet vast
Befestigen Sie den Bildschirm an der Halterung
und sichern Sie ihn
Attachez l'écran au support et fixez-le
Fissare lo schermo alla staffa e fissarlo
Coloque la pantalla en el soporte y fíjela
Fixar o ecrã ao suporte e fixá-lo
Przymocuj ekran do uchwytu i zabezpiecz go

EN
NL
DE

FR
IT
ES
PT
PL

M-C M-D M-C M-D M-C M-D

M-F

M-G M-G

M-GM-G

M-H M-H

M-HM-HM-H

M-F M-F

M-F

M-E

M-FM-F

M-EM-E



STEP 8

J

Q

a b

L

Install the cable clips, route the cables and if desired lock the 
brackets by using a padlock (not included) or anti-theft screw
Installeer de kabelklemmen, leid de kabels en vergrendel des-
gewenst de beugels met een hangslot (niet meegeleverd) of          
een antidiefstalsleutel
Bringen Sie die Kabelklemmen an, verlegen Sie die Kabel und 
sichern Sie die Halterungen auf Wunsch mit einem Vorhänge-
schloss (nicht im Lieferumfang enthalten) oder einer Anti-
Diebstahlschraube
Installez les attaches de câble, acheminez les câbles et, si vous 
le souhaitez, verrouillez les supports à l'aide d'un cadenas (non 
fourni) ou d'une vis antivol
Installare i fermacavi, instradare i cavi e, se lo si desidera, bloc-         
care le staffe utilizzando un lucchetto (non incluso) o una vite 
antifurto
Instale las abrazaderas, pase los cables y, si lo desea, bloquee 
los soportes con un candado (no incluido) o un tornillo antir-
robo
Instale os clipes para cabos, passe os cabos e, se desejar, bloq- 
ueie os suportes com um cadeado (não incluído) ou um para-
fuso anti-roubo
Zainstaluj zaciski kablowe, poprowadź kable i w razie potrzeby 
zablokuj za pomocą kłódki (brak w zestawie) lub śruby zabez-
pieczającej przed kradzieżą

EN

NL

DE

FR

IT

ES

PT

PL

J

QL




